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QUESTION 1

What are the three foundational elements required for the new operational paradigm? (Choose three.)
A. centralization

B. assurance

C. application QoS

D. multiple technologies at multiple OSI layers

E. policy-based automated provisioning of network

F. fabric

Correct Answer: BEF

QUESTION 2

Which two statements are true regarding Cisco ISE? (Choose two.)

A. It distributed deployments, failover from primary to secondary Policy Administration Nodes happens automatically.
B. The number of logs that ISE can retain is determined by your disk space.

C. ISE supports IPv6 downloadable ACLs.

D. ISE can detected endpoints whose addresses have been translated via NAT.

E. ISE supports up to 100 Policy Services Nodes.

F. In two-nodes standalone ISE deployments, failover must be done manually.

Correct Answer: AB

QUESTION 3

Which are two advantages of a "one switch at a time" approach to integrating SD-Access into an existing brownfield
environment? (Choose two.)

A. appropriate for campus and remote site environment

B. allows simplified testing prior to cutover

C. ideal for protecting recent investments while upgrading legacy hardware
D. involves the least risk of all approaches

E. opens up many new design and deployment opportunities
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F. allows simplified roll back

Correct Answer: AC

QUESTION 4

Which two activities should occur during an SE\\'s demo process? (Choose two.)

A. determining whether the customer would like to dive deeper during a follow up.

B. asking the customer to provide network drawings or white board the environment for you.
C. identifying which capabilities require demonstration.

D. leveraging a company such as Complete Communications to build a financial case.

E. highlighting opportunities that although not currently within scope would result in lower operational costs and
complexity.

Correct Answer: CE

QUESTION 5

Which two Cisco ISE use cases typically involve the highest level of implementation complexity? (Choose two.)
A. Guest and wireless access

B. Software-defined access

C. Device management

D. Asset visibility

E. Software-defined segmentation

Correct Answer: BE
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